NO:

FINDING MOLECULAR FORMULA-SET-1

A CHO

A compound, X, contains 40.0% carbon, 6.7% hydrogen and 53.3% oxygen by mass.
The relative molecular mass, M,, of X is 60.

What is the molecular formula of X?

B CH.O Cc CyHO D C.H4O;

The relative molecular mass of an alcohol is 88.
Its percentage composition by mass is: C, 54.5%; H, 9.1%; O, 36.4%.

Which row shows the empirical formula and molecular formula for this alcohol?

empirical formula molecular formula
A C,H,O C,H.O
B C,H,0 C4Hs02
c C4H:0: C4Hs02
D C4H:s0; C.H.O

1

2
3
4

o 0O W »

Which esters have the molecular formula CsH,05?

ethyl propanoate
propyl ethanoate
butyl methanoate

methyl butanoate

1,2,3and 4
1, 2 and 3 only
1 and 2 only
3 and 4 only
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4 A gas has the molecular formula NOCIL.
Which diagram could show molecules of the pure gas NOCI?
A B C D
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5 Butenedioic acid has the structure shown.
I
C
H H
~ ﬁ/ \O/
C
H— \C /O\H
(0]
What is the molecular formula of butenedioic acid?
A CHO B C,H,0, C CgzH,0, D CgzH,Of
6 Which formula represents a compound containing three atoms?
A HNO; B H,0O C LiF D ZnSO,
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Magnesium and sulphur each form a chloride.

What could be the formulae of these chlorides?

magnesium sulphur
A Mg.Cl S,Cl
B Mg.Cl1 SCh
Cc MgCh S,Cl
D MgCl, SCL

The diagram shows the first four members of a homologous series.

H H H H H H

| | |
H—C—H H—(|3—C|J—H H—clz—clz—(l:—H H—C—
H H H H

H

I—O—I

I—O—=I

I—0O—I

I—QO—I
L

H

What is the difference in molecular formula between one member and the next in the series?

A CH B CH; C CH; D CH,

For complete combustion, one molecule of an organic compound needs 8 molecules of oxygen.

What could the formula of this compound be?
A CsH;OH

B CsHsOH
C C¢H4OH
D CgHiz

For each atom of carbon present in a molecule, there is an equal number of atoms of oxygen but
twice as many atoms of hydrogen.

What is the formula of the molecule?

A CszOz B CszO4 C C2H402 D CzHeO
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The electronic structures of atoms X and Y are shown.

X and Y form a covalent compound.

What is its formula?

A XYs B XY; Cc Xy
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